EARAROBREBRT —5 XN—ZXBISH—F

202338148 (X)) 12@A6tE2H

MU SF—fi C2”-=

‘(fﬁ} W ‘I%EH?’JF&] ~ | 5 1000 &

[AE%] 1 7% :1,000,000 § ~ 237 :400,000 @  37&:250,000 3  43&:150,000 @ . 5 3&:100,000 M

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1 3|YavsS Ty 5| BES 1:(1_7).4 822 [39.2| - | 1 szg;) ga@ (i@
RibE—RO—F— B:=ZZFUI-R 455
way LUZSERHS 7. =)= . - fEmEsh (fots)
217110l 7—=WAY T Y b 5 i 1(127)8 1-1-1 | 39.7 2 (5_073) Eﬁia
RiXT T« B:T7AHhF N7 7—L
Y. » w3 it 4 | AHEE 1:17.9 2-4-4  |39.5| — 5 M5 | EBERA (HeTE)
38|11\ —IWRDrv2a 54.0 (72 © | @ FrOvbIr—Ai
RIRVIRAT AT DFUT— B:N—IAY vV (B) 81— KL—y3avEEI 7
- — 55 m : (-5 = EEE (1)
4 2 |¥Y2aTU—-TI5Th R (11'11%1) M ! (4:28) RERF
RiF4RIU—bFrvyv b B:Y2TU—-R =LA il SER
o o6 | JISIEXES 1:18.5 9-9-7  [39.4| - 8 | 490 | EHE (A6tS)
5 7| U—hRE=T 56.0 Q@ 3 | B S¥rIa/=-
R:ZANOVIUI—Y B:SO0F1—Y FATPURARIST
. =y~ B4 | IR 1:18.8 7-66 [ 40.1| — 4 | 442 |ERSEE (WHE)
6|79 |FTTIIVH 54.0 (1 172 () |HEER
R T709— B FUVERYA ARAIWT7—L
= o4 | BERR 1:18.8 6-8-8 [39.7| - 11 | 462 |FEEAEEE (1IF)
7155 | 7ILTA 5.0 F59) 3 |B== )
RiZTvFE—TAIN BOALINU—R (A=t
~ 4 4 | WMEEE 1:18.8 10-10-10 [39.3| - 9 465 | FAERX (11IE)
8l1l1|/NOBY 56.0 @E) (g |CHNIEE )
KR:EVFOVY B:NO-HYY35A4X TEKEUS
. s, e :19. -11- . - AR (018)
9 4| TIW—2TFI ' 5.0 (11 119/;) 1T 394 6 :1:25) TR
RIXVUSTvR B:T7ILT7S TURBUS
D= — o4 | EHS 1:19.7 3-3-3 |45 — 3 472 |EBEX ()
10/5]6 | FZ—79—X 5.0 ) *3) M) Loz
RIE—UR BF=Z—YI)LI— BT 7—L4A
» < B |#— :19. -7 . - 2R (ats)
1 8| RR7VIL—U— # 8 | B DA e | somA
RFAVITIRY BNy VaANVYNY "HET7—L
N - P REHZ - - - - - — | IRER (tE)
w812/ INATI—RD A TR0 (B ) () it
RZAZXADA—=RAI 1A B:AXARST=Z— FiEaze]
@ 11— —®BIEfI
13—7+—
20—F— 10,11,6,2,8,5,9,3,7,1,4
Sal=zr= 10,3,6,11,2,9,8,5,7,1,4
43— — 10,3,6,11,2,9,7,5,8,1,4
o ILRE
B B 3 2204 JA R 3-10 210M4 % 3= 3-7 340M4 3EE 3-10-1 1,650/
7B B 3 1309 3-1 5504 B 3-7 720 3EH 3-10-11 4,430
10 140 10-11 5804 F5 E 3-10 3604
I 310M4 =51 3-10 6704

ABIC OV TRUTEREERRODDZE. THRIIZEL.




